Name: _______________________________________


Hypothesis Worksheet #2
AP Statistics

For each of the following p-values, state whether you would “reject” or “fail to reject” H0 for the given  level.

1) P-value = 0.234 when  = 0.05



2) P-value = 0.024 when  = 0.05

3) P-value = 0.024 when  = 0.01



4) P-value = 0.024 when  = 0.10
For each of the following, 
a) draw & shade the curve for Ha 

b) calculate the p-value of the given test statistic

5) right-tail test

t = 2.05; n = 20

6) left-tail test

z = -1.95; n = 15

7) two-tail test


t = 1.75; n = 25

8) two-tail test


t = -2.05; n = 16

9) During an angiogram, heart problems can be examined via a small tube (a catheter) threaded into the heart from a vein in the patient’s leg.  It’s important that the company who manufacturers the catheter maintain a diameter of 2.00 mm.  Each day, quality control personnel make several measurements to perform a two-tail test at  = 0.05.  For a random sample of 15 measurements, t = 2.056.  Calculate the p-value and write the correct conclusion in context.

